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1 100kN/m#E#BZ % — -~ — —|3mEEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — - —
zhs 1.00| 000 ~ 6.34 79.72 | LSt | 000 ~ 6.34| 1.93 9.78 Th s 1.00| 500 ~ 8.00 79.72 | Fhlist | 5.00 ~ 8.00| 1.93 9.78
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — - —
zhs 1.00 | 0.00 ~ 4.67 5820 | #hl4t | 0.00 ~ 0.00 | 1.62 8.19 zh s 1.00| 500 ~ 5.00 5820 | #h A4t | 5,00 ~ 500 | 1.62 8.19
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — - —
zhs 1.00 | 0.00 ~ 4.77 5941 | Zhblis | 000 ~ 0.00 | 1.76 8.88 zhs 1.00| 500 ~ 5.00 5941 | Zhblist | 500 ~ 500 1.76 8.88
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — - —
zh s 1.00| 000 ~ 6.54 8240 | ZhList | 000 ~ 0.00| 1.78 8.99 Th s 1.00| 500 ~ 7.80 8240 | ZhList | 5.00 ~ 7.80| 1.78 8.99
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — - —
zh s 1.00| 0.00 ~ 586 7336 | ZnList | 000 ~ 0.00 | 1.64 8.28 Th s 1.00| 500 ~ 6.80 7336 | FnList | 5.00 ~ 6.80| 1.64 8.28
6 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — - —
zhs 1.00| 000 ~ 7.23 92.00 | Z#hList | 000 ~ 0.00| 1.68 8.49 Th s 1.00| 500 ~ 940 92.00 | Zh it | 5.00 ~ 940 | 1.68 8.49
7 100kN/m%E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ — - —
zhs 1.00 | 0.00 ~ 4.67 5820 | #h A4t | 000 ~ 0.00 | 1.62 8.19 zhs 1.00| 500 ~ 5.00 5820 | #h A4t | 5.00 ~ 500 | 1.62 8.19
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Th s ~ Zhs ~ Th s ~ Zhs ~
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Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
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Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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